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~ SHOULD INCRBASE BY ONLY A SMALL AMOUNT

DETBRMIMING DpSS AND VP

_OF A JFBT k. kv AN

J-29-03
THE METHOD SHOWN IS FOR AN N-CHANNBL RRT,
SIMPLY Qeveam POLARITIBS FOR A P-CHANVEL
FBT,

@ MEASURB IDSJ (S ING THE P-ou,own\lé

CIRCUIT -
5%5 f x 1oV

READ THE CURRBNT OMN THE AMMBTER — TAIS
IS TDSS., TF THE APPLIBD VOLTAGE IS
INCREASRD B'YY SBVEBRAL VoLTS THE AMMERTEBR

— PERAAPS x (0o LA,
@ CONNBLT THB PoLLOWING CIRCUIT

e ISV

ADIUST THE O-6 VOLT SupPLY UNTIL THE AMMETER

READS Y4 IDSS, MBASUCR THE VOLTALE oP
THE 0-6 VoLT SuPPLY AND MULTIPLY By -2,
THIJ 1S ROUGHLY VP,
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VP |S HARD To DIRBCTLTY MEAJURB S/NcR
TBB DRA'N CURKBNT NEVRER RBACHES
BXALCTLY 2BRO AND IT (S A BIT SUBRTEBLT(VAR
AS TOo WHEBREB THE CURRBNT IS PRACTICALLY
2BRO, THEB MBTHOO SBRD ABRE USES Two BASY
MBASURBMENTS AND PROJBLTS WHERE VP IS
WITH 0UR STANDARD MODEL, THUS, THIS MBTHID
PRODUCES A VP THAT Spould GIVEB ARLLURATE
RESULTS WITH QUL MODPBL, HBRE IS THR
DERIVATION.

Ip = 2oss () - %—?,’52

KIpSS > Toss ()- V&J/VPBZ'

K= InC Vos €0
Ipss @ Vs =0

K= |- lU&S/Vp + V(,%/V%
KVE = VE - 2VesVp + Ves®
(1 -V ~2VeiVp rVes™ =0

Vp = _Z_V&Lt]) W™ —4(I-MIVed
2 (1-K)

WHCH RBDUCBS To |
Ve= Ve 1+V K
\—tc

TF K=0.27 THEN lp= 2Vgg THAT MANES 20 = Toss 4
WILL wORk PoR ANY Good UALLE ORI BUT (20,25 (S BASK




